Proto Board Development

Suggestions and Examples of Laying Out a
Development Board for the 8051

© Copyright 2005 Linden H. McClure, Ph.D.

Drill Sizes

* To mount a TO-220 style heat sink to the board, use a #6 machine screw.
¢ To mount an RS-232 connector to the board, use #4 machine screws.

« The corner standoffs have a 6-32 (#6) thread.

¢ To mount the power jack, use a 5/16" drill bit.

* There are two styles of power switches in the lab kits.
If you have the power switch with the flat lever, use a 1/4" drill bit.
If you have the power switch with the round lever, use a 15/64" drill bit.

¢ If mounting the LCD with machine screws, use #2 screws (3/32")

Screw Size Drill Diameter
#2 3/32"
#4 1/8"
#6 9/64"

© Copyright 2005 Linden H. McClure, Ph.D.




Connecting an LCD

* You have many options for connecting the LCD to the perf board. You can attach it directly, or you
can use some type of cable interface. Consider whether you would like to be able to remove the
LCD or whether it is acceptable to have it permanently attached to your board. You need to
connect the power/signal pins as well as connect the four corner mounting holes to the board.
Many LCDs will utilize a 14-pin connector. LCDs with an LED backlight may require 16 pins.

¢« To mount the LCD directly to the board, use wire wrap wire or 22 AWG solid core wire to connect
(twist tie) each corner of the LCD to the perf board. This is the easiest way.

¢ Alternately, use #2 machine screws to mount the LCD. If you use long screws with standoffs, you
may be able to fit additional circuitry on your board underneath the LCD. However, you must plan
carefully, if you want the 14 signal holes in the LCD board to line up with the holes in the perf
board. Note that the 14 signal holes at the top of the LCD are in a straight line with the two
mounting holes at the top of the LCD board. Therefore, when you drill the mounting holes for the
LCD, make sure the top two holes are in line with a row of holes on your perf board. The center of
the top left mounting hole on the LCD is exactly 0.3" from the center of the signal hole labeled '1'
on the LCD, so your mounting hole for the top left corner of the LCD should be centered in one of
the holes in the perf board. The other three corner holes on the LCD are not aligned with holes on
the perf board. Be careful not to tighten the mounting screws for the LCD too hard. Make sure the
LCD board is not flexed.

* One suggestion is to use a 14-pin (or 16-pin, if needed) SIP wire wrap connector. You can solder
this into the LCD board and then wire wrap to the long SIP pins extending through the perf board.

* Another idea is to use a flat insulation displacement cable with a DIP connector which can be
plugged into a wire wrap socket on your board.

© Copyright 2005 Linden H. McClure, Ph.D. 3

© Copyright 2005 Linden H. McClure, Ph.D. 4




© Copyright 2005 Linden H. McClure, Ph.D.

EXAMPLE

BOARD LAYOUT

Key: PI=Power Jack: PS=Power Switch; RS=Reset Switch; SH=StandolT Hole

)] ©

O

" Connactor 16-pi
Dinde Bridge, Regulator, Heat Sink o o -pin

RS5-232

AAN2 32

Caps

EPROM
[FAlS]

SRAM VleW from Top
of Board

Vo-pin | § 1PN

2npin || 20-pin
(pull-up a7
I sim
L‘ ROS1
(C501 )
1aepin | | 18-pin
XTAL
20-pin § | 18RI

o

Lco

[«]

- Pl

the o
- Uszaf.l ul

- Leave a little space
- Be careful about |
- Logate the microc

rial port and power supply connectors on e s
- Place reset button and power supply switch near one al
ound push buttons, switches, and
wwing components or drilling too ¢
pull-ups, TALSOE, 7418373, EPROM
2 to microconiroller and salder the

niraller, 4
o circuit v
* (104} bypa

or for e,

ch chip and locale the cap very close to th
1 drilling and sawing prior (o insa

the board so

onof any components o reduce risk of board dar

@ exlze of the board, so Lhi

o
that th

cmponents b

s power pins. Use short wires.
ze and wasted time.

) © Copyright 2005 Linden H. McClure, I;h.D.

=
can be turned over easily with cables atached., 8
an be gasily reached when board is upside down.
s, 50 that you have room to access these areas with your fingers
se Lo the eidge of the hoard, since the board can break or crack if stressed

ch iher, to keep bus shart.




Top View

Be careful when
drilling large holes,
as perf board can

easily break

© Copyright 2005 Linden H. McClure, Ph.D. 7

Bottom View

TR

© Copyright 2005 Linden H. McClure, Ph.D. 8




Pin Numbers
and Signal

- art

© Copyright 2005 Linden H. McClure, Ph.D.

Examples of 8051 Designs

© Copyright 2005 Linden H. McClure, Ph.D. 10




